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  frequency	
  (Hz)	
  

BP
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  re

so
lu
;o

n	
  

σz	
  =	
  0.3	
  mm	
  



F	
  =1*10^10,	
  
	
  Z	
  load=50	
  Ohm,	
  δ=1*10^-9 m, 

 σz = 8 mm  
 Thermal noise 
 (dF=3 MHz, T = 300K)  1.57 µV 

Q load=1500 
β = 2.0 

Frequency (GHz) 

Old 
BPM 

Leff =6mm 
Rtube =5mm 

B
PM

 o
ut

pu
t v

ol
ta

ge
 (V

) 

Leff =20mm 
Rtube =12mm 



Cavity	
  BPM,	
  6426	
  MHz	
  

	
  F010=4.4GHz,	
  Qex=2.600,	
  
F110=6.426GHz,	
  Qload=3300,	
  
F020=10.2	
  GHz,	
  Qex=5800	
  

TM010 

TM110 

TM020 

For 1 nm resolution 

Frequency	
  difference:	
  
TM010	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  -­‐	
  60	
  db	
  
TM020 	
   	
  	
  	
  	
  -­‐	
  65	
  db	
  
Space	
  mode	
  selecOon:	
  
For	
  TM010	
  -­‐	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  40	
  db(?)	
  
For	
  TM020	
  -­‐	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  25	
  db(?)	
  

Sum:	
  
TM010	
  -­‐	
  	
  	
  35	
  db,	
  δ ~	
  +60	
  nm	
  
TM020	
  -­‐	
  	
  	
  25	
  db,	
  δ ~	
  -­‐17	
  nm	
  


